

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

Regular

PROGRAMME : Bachelor of Commerce (Accounting & Finance)

EXAMINATION : October - 2025

SEMESTER : III

Sr. No.	Roll No.	Seat No.	Name	Financial Accounting (Special)		Cost Accounting (Methods of)		Business Environment		Environmental Management		Information Technology in		Business Communication - II		Field Project - I		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade					
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE										
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50										
1	3	SBAF25001	/ ALET SHIBU REJI	30	49	34	32	34	24	15	18	20	21	16	23		41		49					406	170	22.0	7.73	A	
2	55	SBAF25002	/ AGRAHARI PRIYA VISHNUPRASAD SANGITA	39	47	32	42	33	45	13	13	16	28	18	23		42		29						424	180	22.0	8.18	A+
3	1	SBAF25003	AJGAONKAR AMEY SANTOSH SAMIKSHA	30	24	21	24	26	40	13	14	15	17	16	16		41		25						322	130	22.0	5.91	B
4	2	SBAF25004	AJGAONKAR ATHARV RAVINDRA REVATI	28	4	21	24	26	14	13	6	16	18	16	13		34		29						262	68	12.0		F
5	120	SBAF25005	ANSARI NUMAN AHMED MOHAMMAD MUSTAQUIM ZAHIRA	26	10	24	24	23	24	13	5	16	3	18	07		37		46						276	68	12.0		F
6	81	SBAF25006	ANSARI MOHD DANEYAL MOHD AYUB SHABNAM	40	49	34	46	34	33	18	19	20	18	18	22		47		46						445	194	22.0	8.82	A+
7	58	SBAF25007	BAROT RUDRA TARUN PRAGNYA	18	AB	8	5	18	24	7	12	5	12	06	14		AB		40						169	34	6.0		F
8	4	SBAF25008	BHAVE AVAM KAILAS JYOTI	20	26	23	38	26	34	15	12	11	21	15	21		35		AB						297	128	20.0		F
9	123	SBAF25009	/ BUDHAWALE APURVA SANJU RAJASHREE	10	24	AB	24	AB	27	AB	12	AB	18	AB	16		39		45						215	36	4.0		F
10	82	SBAF25010	/ CHAUHAN DHRUTI DHARMENDRA AARTI	40	33	34	46	37	33	18	13	18	23	19	20		47		49						430	188	22.0	8.55	A+
11	5	SBAF25011	DANDU MELVIN MARK MARATHA MARK	34	35	22	30	27	24	16	6	15	12	16	18		36		30						321	122	20.0		F
12	6	SBAF25012	DARJI HIMANSHU RAKESH ASHA	37	47	30	40	37	46	17	25	19	29	15	23		38		48						454	196	22.0	8.91	A+
13	7	SBAF25013	/ DARJI SHRUTI VASANTKUMAR PRAVINABEN	29	24	21	24	25	24	16	3	18	12	14	17		35		38						300	112	20.0		F
14	8	SBAF25014	/ DEBNATH ROSHNI SUBHASH RUNU	36	24	24	32	34	24	13	2	17	13	16	12		40		47						334	140	20.0		F
15	103	SBAF25015	DESHMUKH VARAD SAMEER RUPALI	33	29	26	13	30	28	14	12	15	12	14	21		48		31						326	122	18.0		F

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Accounting & Finance)

EXAMINATION : October - 2025

**Regular
SEMESTER : III**

Sr. No.	Roll No.	Seat No.	Name	Financial Accounting (Special)		Cost Accounting (Methods of)		Business Environment		Environmental Management		Information Technology		Business Communication - II		Field Project - I		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50					
16	9	SBAF25016	/ DHARNE NUPUR SAGAR KAJAL	31	9	21	6	26	24	12	6	17	12	15	13		38		46	276	80	12.0		F
17	10	SBAF25017	/ GADE APEKSHA SUNIL MANISHA	35	32	30	27	33	34	13	12	18	12	16	23		39		40	364	154	22.0	7.00	A
18	11	SBAF25018	GALI RAHUL LAXMAN SHARDA	37	25	30	24	36	34	15	13	17	16	17	20		38		42	367	158	22.0	7.18	A
19	12	SBAF25019	GHADE RAHUL GANGARAM SAYALI	37	28	32	35	35	28	16	14	16	17	16	21		36		32	363	158	22.0	7.18	A
20	13	SBAF25020	/ GUPTA KOMAL RAJKUMAR SHASHIKALA	38	40	24	24	28	24	15	12	17	12	19	15		35		46	349	140	22.0	6.36	B+
21	14	SBAF25021	GUPTA RISHI VINOD PRAMILA	38	32	25	42	33	28	15	13	14	16	14	20		32		46	368	162	22.0	7.36	A
22	53	SBAF25022	GURAVNOR STANLEY JAGDISH VIJAY KUMARI	34	26	24	7	28	38	12	12	18	19	18	17		42		33	328	128	18.0		F
23	15	SBAF25023	/ HANDGAR MANASVI JAGDISH VANDANA	39	16	31	27	35	37	15	14	19	20	18	28		40		28	367	134	18.0		F
24	16	SBAF25024	/ HASSAN MASUMABANU SAIDUL RUKSARBANU	38	46	31	47	36	44	14	26	19	29	17	24		36		45	452	196	22.0	8.91	A+
25	83	SBAF25025	/ HUSSAIN SHABIHA ZUBAIR SHARMIN	39	38	29	50	35	49	16	23	19	25	17	23		44		48	457	194	22.0	8.82	A+
26	54	SBAF25026	IGAVE ROHIT HITESH DEEPIKA	29	24	22	24	26	24	12	4	14	7	17	06		42		40	291	92	16.0		F
27	84	SBAF25027	JAGTAP VIGHNESH TANAJI KALPANA	19	24	22	39	23	34	12	12	17	18	17	19		42		45	346	148	22.0	6.73	B+
28	18	SBAF25028	JAIWAR ADITYA DIARMENDRAKUMAR POONAM	38	42	32	50	37	42	16	16	17	27	19	20		46		AB	402	172	20.0		F
29	19	SBAF25029	/ KADAM DEEPALI DEEPAK JYOTI	34	0	26	5	26	29	16	12	15	12	15	19		48		41	298	98	14.0		F
30	20	SBAF25030	/ KADAM VRUTUJA RAJU PRIYANKA	37	36	26	35	31	30	17	12	18	18	14	19		46		45	384	170	22.0	7.73	A
31	85	SBAF25031	/ KAHAR SAPNA GHANSHYAM SONMATI	35	27	24	28	35	30	12	17	15	25	18	20		44		49	380	162	22.0	7.36	A
32	21	SBAF25032	KALHATKAR VAIBHAV VILAS SUNITA	32	32	28	29	30	26	15	12	17	20	17	15		43		29	347	148	22.0	6.73	B+
33	86	SBAF25033	/ KALTHE ISHTI PRASHANT KAVERI	37	30	29	40	34	49	15	24	18	30	20	26		44		46	443	188	22.0	8.55	A+

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

Regular

PROGRAMME : Bachelor of Commerce (Accounting & Finance)

EXAMINATION : October - 2025

SEMESTER : III

Sr. No.	Roll No.	Seat No.	Name	Financial Accounting (Special)		Cost Accounting (Methods of)		Business Environment		Environmental Management		Information Technology		Business Communication - II		Field Project - I		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50					
34	119	SBAF25034	KANOJIYA AAKASH MANIRAM CHANDRAVATI	35	10	26	30	30	29	14	12	14	17	18	19		36		35	325	120	18.0		F
35	22	SBAF25035	KAPOOR SIDDHARTH HARISH KHUSHBU	21	9	20	2	17	24	11	4	12	7	16	07		36		AB	186	32	6.0		F
36	121	SBAF25036	/ KAUNDER LAXMI JAYPAL SUMATI	32	24	28	12	35	45	13	16	18	23	20	21		38		30	355	138	18.0		F
37	23	SBAF25037	KAVANDER SAINATH SHANMUGAM DEVI	30	43	26	38	36	24	14	14	11	12	16	20		42		39	368	160	22.0	7.27	A
38	87	SBAF25038	KHAN MOHAMMED NOMAN JAVVAAD RABUNNISA	35	11	23	7	25	29	14	12	16	12	18	19		44		48	313	96	14.0		F
39	88	SBAF25039	KHAN ZAINULL ABDEEN MOHD MUSLIM TAHIRA KHATUN	36	40	27	51	38	51	17	24	18	27	19	21		44		45	460	200	22.0	9.09	O
40	17	SBAF25040	KHAN ARMAAN ANEES ISHAQ RAMEESA	33	42	29	42	33	40	16	16	18	18	17	18		47		AB	369	162	20.0		F
41	57	SBAF25041	/ KHAN SAMEERA MANSOOR ZAHIDA	34	24	28	29	29	24	14	13	14	16	14	21		39		40	339	142	22.0	6.45	B+
42	24	SBAF25042	KUMBHAR SHAILESH SHIVAJI MANJU	31	30	28	AB	22	36	13	14	15	22	17	18		43		45	334	132	18.0		F
43	89	SBAF25043	KURHADE LAKHAN MARUTI NINGAMMA	20	9	16	0	AB	1	AB	5	AB	12	02	12		39		25	141	26	4.0		F
44	25	SBAF25044	/ LODHI KHUSHI RAMJEET MEENA	35	16	23	29	34	35	14	17	18	22	18	23		45		47	376	138	18.0		F
45	90	SBAF25045	/ LOTEKAR ADITI SANJAY ANITA	35	33	37	43	38	47	18	18	18	28	18	21		47		47	448	192	22.0	8.73	A+
46	26	SBAF25046	/ MULTANI HUMERA RAFIQ SHABANA	39	44	34	32	37	AB	16	29	18	AB	19	19		45		48	380	140	16.0		F
47	91	SBAF25047	NADAR ARYAN RAJESH SHARDA	33	44	24	46	37	47	17	27	19	25	17	23		39		45	445	194	22.0	8.82	A+
48	27	SBAF25048	NADAR MADHAVAN SUDALAIMUTHU PONNUTHAI	37	29	30	35	33	35	15	12	16	14	17	18		45		47	383	164	22.0	7.45	A
49	92	SBAF25049	PADRI VIPRA VIKAS ANITA	33	42	24	49	37	44	12	15	13	21	16	23		39		AB	368	156	20.0		F

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Accounting & Finance)

EXAMINATION : October - 2025

**Regular
 SEMESTER : III**

Sr. No.	Roll No.	Seat No.	Name	Financial Accounting (Special)		Cost Accounting (Methods of)		Business Environment		Environmental Management		Information Technology		Business Communication - II		Field Project - I		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50					
50	28	SBAF25050	/ PANCHAL LATIKA AJAY APARNA	28	10	24	7	34	24	16	14	15	14	16	18		44		48	312	102	14.0		F
51	93	SBAF25051	PANDEY AVINASH RAVINDRA ARCHANA	32	28	24	41	31	34	12	15	17	20	15	19		34		31	353	152	22.0	6.91	B+
52	29	SBAF25052	PARAB PRATHAMESH CHANDRAKANT CHAYA	31	30	24	36	34	54	13	23	16	25	15	22		45		30	400	180	22.0	8.18	A+
53	94	SBAF25053	/ PATEL KHUSHI VIJAY KANCHAN	39	26	29	31	35	42	12	12	19	21	17	20		44		47	395	170	22.0	7.73	A
54	30	SBAF25054	PATHAK KRISHNA KAMLESH SHARMILA	33	36	26	41	37	42	13	15	16	25	18	20		45		28	395	166	22.0	7.55	A
55	95	SBAF25055	/ PAWAR AKANKSHA SANDEEP SANJANA	34	26	35	36	34	46	15	15	20	21	19	24		47		48	422	188	22.0	8.55	A+
56	96	SBAF25056	PAWASKAR NIRANJAN RAJENDRA PRIYANKA	35	24	24	25	32	24	11	12	18	13	18	20		44		0	300	120	20.0		F
57	31	SBAF25057	/ QURESHI ANAM UMAR FATIMA	39	55	33	54	35	45	17	20	19	24	20	23		49		48	485	208	22.0	9.45	O
58	98	SBAF25058	/ QURESHI FAHIMA ABDUL REHMAN KANIZ FATIMA	40	55	31	42	34	29	14	22	19	24	19	24		47		47	451	196	22.0	8.91	A+
59	33	SBAF25059	QURESHI MOHD AAQUIB NADEEM NAZMA	31	24	31	33	28	24	13	6	16	14	15	12		42		30	319	128	20.0		F
60	97	SBAF25060	QURESHI ANAS MOIN AKHTAR TAHIRA	36	24	32	30	35	36	15	14	18	15	16	21		44		33	370	164	22.0	7.45	A
61	32	SBAF25061	/ QURESHI BUSHRA ATEEQ RAJKIAN	40	58	35	59	39	54	16	24	20	26	20	27		49		47	514	218	22.0	9.91	O
62	99	SBAF25062	/ RAJAK MANISHA SUSHIL JAYADEVI	36	39	27	36	36	45	12	14	17	21	19	20		47		45	414	178	22.0	8.09	A+
63	34	SBAF25063	RAUT LAKSH PRADEEP POOJA	31	7	25	24	32	27	13	16	15	12	14	15		42		31	304	106	18.0		F
64	100	SBAF25064	RAVARIA DRUSHIT RAJESH RAMILA	11	29	22	48	34	35	14	15	19	25	09	25		32		32	350	132	18.0		F
65	35	SBAF25065	/ RAVARIYA HINESHA RAMESH KUVARBEN	38	37	24	34	34	37	16	18	15	18	17	21		46		49	404	172	22.0	7.82	A

COSMOPOLITAN'S
**VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
 COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Accounting & Finance)

EXAMINATION : October - 2025

**Regular
 SEMESTER : III**

Sr. No.	Roll No.	Seat No.	Name	Financial Accounting (Special)		Cost Accounting (Methods of)		Business Environment		Environmental Management		Information Technology		Business Communication - II		Field Project - I		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade					
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE										
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50										
66	101	SBAF25066	SAHU ROHIT KAILASH MAMTA	35	44	28	42	30	34	14	15	18	15	19	16		41		40					391	170	22.0	7.73	A	
67	36	SBAF25067	/ SAKORE SHWETA SANTOSH SAPNA	36	40	25	42	36	36	14	19	16	19	19	24		46		49						423	182	22.0	8.27	A+
68	102	SBAF25068	SALASKAR HARSH SANJAY SUPRIYA	39	47	31	37	34	44	15	17	17	22	19	21		48		49						440	184	22.0	8.36	A+
69	37	SBAF25069	SALASKAR OMKAR SACHIN ROHINI	35	24	26	27	35	25	14	15	18	12	17	24		43		32						349	150	22.0	6.82	B+
70	56	SBAF25070	/ SATHE AKSHATA SHASHIKANT SUNITA	33	0	24	13	30	36	10	16	11	12	16	20		AB		45						266	82	12.0		F
71	104	SBAF25071	/ SAYYED SUSAN ZEHARA NOORAALAM NARGIS FATEMA	40	48	36	49	38	48	17	21	20	26	20	24		49		49						488	208	22.0	9.45	O
72	38	SBAF25072	SECCO MARLON WILLIAM GLANCY	37	39	30	AB	34	27	16	18	14	21	17	21		43		45						362	144	18.0		F
73	105	SBAF25073	/ SHAH AARTI LALKUMAR KANTIDEVI	39	53	32	47	36	42	18	19	17	21	20	21		48		47						460	194	22.0	8.82	A+
74	122	SBAF25074	SHAIKH ASHRAF HASINA	29	8	28	6	22	24	11	12	18	12	18	22		40		30						280	88	14.0		F
75	39	SBAF25075	SHAIKH ERAM CHAMAN ALI FARZANA BEGUM	40	51	33	48	34	49	18	21	17	21	19	23		47		48						472	204	22.0	9.27	O
76	40	SBAF25076	/ SHAIKH HUDA ANABIYA JEELANI TEHSEEN	28	AB	28	AB	35	49	16	14	18	22	16	22		47		45						340	124	14.0		F
77	41	SBAF25077	SHAIKH MOHD MAAVIYA JAVED AHMED NASREEN BANO	37	25	26	50	36	32	17	15	18	15	14	18		47		31						381	164	22.0	7.45	A
78	108	SBAF25078	/ SHAIKH PIYA FULSADDIN TANUJA BIBI	36	49	31	46	34	45	17	15	17	19	20	25		42		48						447	190	22.0	8.64	A+
79	42	SBAF25079	SHAIKH RAHIL AMJAD NAJMA	37	36	31	49	33	37	14	15	19	16	19	22		47		46						421	186	22.0	8.45	A+
80	109	SBAF25080	/ SHAIKH SANIYA MOHAMMED ISRAFIL NAJMA	40	52	34	55	37	46	19	21	17	26	19	24		44		46						482	210	22.0	9.55	O
81	110	SBAF25081	SHAIKH YAQOOT AHMED RAIS AHMED NASEEM AKHTAR	34	57	31	46	37	37	16	14	18	26	19	25		38		40						440	192	22.0	8.73	A+
82	106	SBAF25082	/ SHAIKH FATIMA AKHTAR ALI SHARIFUNNISHA	38	41	32	43	37	37	15	17	19	23	18	26		40		46						436	188	22.0	8.55	A+

COSMOPOLITAN'S
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Accounting & Finance)

EXAMINATION : October - 2025

Regular
SEMESTER : III

Sr. No.	Roll No.	Seat No.	Name	Financial Accounting (Special)		Cost Accounting (Methods of)		Business Environment		Environmental Management		Information Technology		Business Communication - II		Field Project - I		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE					
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50					
83	107	SBAF25083	/ SHAIKH HUMERA ROHID SALMABI	40	37	32	46	39	49	17	23	18	24	20	24		41		47	460	198	22.0	9.00	O
84	43	SBAF25084	SHEDEKAR MAYUR SANTOSH SARITA	36	56	30	51	35	45	14	23	17	20	17	23		44		45	457	202	22.0	9.18	O
85	111	SBAF25085	SHINDE ATHARVA ANIL ANJALI	31	27	24	24	31	30	13	12	18	12	16	17		38		0	293	122	20.0		F
86	44	SBAF25086	/ SHIRGAONKAR RIDA SAJYAD ASMA	40	59	34	57	38	48	14	29	16	27	19	25		47		44	499	212	22.0	9.64	O
87	45	SBAF25087	/ SHIRKE MAYURI SHAHURAJ KUNDA	37	37	29	55	35	43	17	21	18	23	18	25		47		49	456	194	22.0	8.82	A+
88	46	SBAF25088	SINGH ANUBHAV CHANDRESH SADHANA	36	42	27	24	36	24	14	16	20	15	17	23		47		49	390	168	22.0	7.64	A
89	112	SBAF25089	/ SINGH KAJAL SHIVKANT POOJA	38	32	29	45	37	31	14	20	15	13	19	20		39		46	398	170	22.0	7.73	A
90	47	SBAF25090	/ SOLANKI ANOUSHKA NARESH AARTI	37	26	27	24	36	47	15	16	19	21	14	21		47		47	397	172	22.0	7.82	A
91	113	SBAF25091	/ SOLANKI MAITRI NAVNIT SEEMA	35	28	24	33	34	40	13	16	16	20	19	23		38		35	377	164	22.0	7.45	A
92	114	SBAF25092	/ SONAWANE GRISHMA DEEPAK DEEPIKA	33	14	27	26	28	38	12	18	15	19	18	22		40		40	350	130	18.0		F
93	48	SBAF25093	SONAWANE PARTH PRADEEP ANITA	34	35	23	30	33	24	15	18	16	15	16	20		40		AB	319	134	20.0		F
94	115	SBAF25094	/ TAMBOLI SANIYA SAMEER ALMAS	29	17	26	43	34	28	13	15	15	14	15	15		37		46	347	130	18.0		F
95	49	SBAF25095	/ THATHERA GAURI ARJUN TARA	37	31	25	43	33	34	17	16	17	19	19	20		44		47	403	170	22.0	7.73	A
96	116	SBAF25096	VERMA HARSH GOKARANPRASAD REKHA	30	24	28	24	30	44	14	17	11	22	17	16		40		29	346	144	22.0	6.55	B+
97	50	SBAF25097	/ VISHWAKARMA RANI NARENDRA REKHA	38	30	31	46	36	46	14	20	17	22	17	20		45		46	428	182	22.0	8.27	A+
98	51	SBAF25098	/ YADAV KHUSHI DHIRENDRA MADHU	25	24	20	9	23	29	8	12	12	16	15	12		41		25	271	94	18.0		F
99	118	SBAF25099	YADAV SHIVAM RAMAGYA MEERA	35	37	31	24	33	42	11	12	16	12	17	20		35		30	355	154	22.0	7.00	A
100	52	SBAF25100	/ YADAV SHREYA RAMKRISHNA URMILA	40	51	34	56	33	39	13	19	18	25	18	23		44		47	463	204	22.0	9.27	O

COSMOPOLITAN'S
VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL
COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (Regular Exam.)

PROGRAMME : Bachelor of Commerce (Accounting & Finance)

EXAMINATION : October - 2025

Regular
SEMESTER : III

Sr. No.	Roll No.	Seat No.	Name	Financial Accounting (Special)		Cost Accounting (Methods of)		Business Environment		Environmental Management		Information Technology		Business Communication - II		Field Project - I		Co-Curricular Course		Total Marks	Sum CG	Credits Earned	SGPA	Grade					
				IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE						IA	SEE			
				16/40	24/60	16/40	24/60	16/40	24/60	8/20	12/30	8/20	12/30	8/20	12/30	0/0	20/50	0/0	20/50										
101	117	SBAF25101	YADAV GEORGE JOSEPH VIJAYA	33	41	29	30	34	44	12	17	17	17	16	23		41		28						382	160	22.0	7.27	A

Bhanubhai

I/c PRINCIPAL
Valia C. L. College of Commerce
& Valia L. C. College of Arts
Autonomous
Gujarati Linguistic Minority Institution
Andheri (West), Mumbai- 400053.